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Rank Name OQut I n| Gross | Hdecp Net )Tro/f:i—
1[I HE 41 40 81 0 81| 30
2 |2 = 41 40 81 0 81| 50
3 | FH ETFHR 39 42 81 0 81| 0
4 |t BE 39 43 82 0 82| 27
5 |EW mid 45 39 84 0 84| °A
6 | i 43 41 84 0 84| 26
1| B8 hEd 44 41 85 0 85| 24
8 [l 533 42 44 86 0 86| >3
9 |B& ELi! 45 42 87 0 87| 22
10 |#F0 #7 45 42 87 0 81| 27
E] IEF 42 45 87 0 81| 22
12 | EiE DES 41 46 87 0 87| 272
13 | T BE 0| 41| & o] 81| 22
4 | E# AT 46 42 88 0 88|
15 |F& FEF 44 44 88 0 88| /7
16 | A 5% 43 45 88 0 88| 7
17 | EEEF  WERF 42 46 88 0 88| ;7
18 | FEB pHY 46 43 89 0 89| /3
19 |t HHF 42 47 89 0 89| /3
20 |KH HmE 43 48 91 0 o s/
21 | &R ¥ 47 45 92 0 92| /0O
22 | &8 wWEF 47| 46| 93 of e @
23 | 411 Mz 45 49| o4 o 9wl &
24 | HHH FHF 48 47 95 0 95|
25 | BEH =% 44 51 95 0 95 7
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Rank Name Qut I n| Gross Hdep Net HiofL i_,
26 |fEE Bx 47 49 96 0 96 5
27 | D BIBT 47 50 97 0 97 4
28 | {EBE EOF 48 50 98 0 98 J
29 |F0mE tEEF 48 50 98 0 98 J
0 |BH# B 50 49 99 0 99 /
FIRE: L =9 H 46 54 100 0 100

32 |kak BT 52 49| 101 o 101

33 | FE Bx 51 50 | 101 0| 101

34 |k EER/ 55 50 | 105 0| 105

3B | Bl B2iE 51 56 107 0 107
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:1 H: 2013%F6H9H(L)
15 Fr: MBS IL{ERER

JIE 42 K £ T = % § Total (Out/In)
1 2l B e 81 81 (41 /40)
2 NI BDB eI 86 86 (42 / 44)
3 KA EF e 87 87 (42 /45)
4 ke FEF ZEX0 88 88 (44 / 44)
5 FEEHEMEF KXE W 88 88 (42 /46)
6 HIE WBEF ZE X0 93 93 (47 / 46)
7| D EEBT TARRS 97 97 (47 /50)
8 Bk =L\F MBI 98 98 (48 / 50)
9 A3 #Etk B E R 99 99 (50 / 49)
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JE {2 K £ Fir = “w & Total (Out/In)
1 INE BE eI 81 81 (41 /40)
2 A A eI 81 81 (39 /42)
3 A EE KELL 82 82 (39 /43)
4 L B 2% 84 84 (45/39)
5 WA thEE Ze 50 84 84 (43/41)
6 BB hED 20 85 86 (44/41)
7 BiR =0 ZE4T] 87 87 (45 / 42)
8 FO &F 24T 87 87 (45 /42)
9 Ly O ES MR 87 87 (41 /46)
10 Tk BE aO—kEJI 87 87 (40 / 47)
11 R# BF J—kEJI| 88 88 (46 /42)
12 Ak BA Dty 4 88 88 (43 / 45)
13 | FElm BpHY = 89 89 (46 /43)
14 | hE F#HF I 89 89 (42 /47)
15 | RH BME JEJI 91 91 (43 / 48)
16 XHF KF a—kEJI 92 92 (47 / 45)
17 B BF MBI T=g 92 92 (47 / 45)
18 | #A)Il EHE ZE50 89 89 (42 /47)
19 | #EH FEF = 95 95 (48 /47)
20 Ef B 1] 95 95 (46 / 49)
21 A T eI 95 95 (44 / 51)
22 AEE & Taz7y 96 96 (47 / 49)
23 | FH EXF JEJI 98 98 (48 / 50 )
24 | FHI FIH MBI 100 100 (46 / 54)
25 | {ERKEF ZEA] 101 101 (52 / 49)
26 R B MBI 101 101 (51 /50)
27 Wik EHRK ZC4N 105 105 (55 /50)
28 A BiE fEJI 107 107 (51 / 56)




